AAQO Continuing Education

University of Illinois at Chicago

College of Dentistry

Instructions. To receive 3 hours of CE credit, please answer
the following questions, complete the registration form and
submit the form by mail or fax, with your payment of $25, to:
AAO Continuing Education Program
UIC College of Dentistry (MC 621)
801 S. Paulina Street
Chicago, IL 60612-7211
Fax: (312) 413-0783
Fax submissions accepted with credit card payment only.

Earn 3 Hours of CE Credit

CE Editor: Dr. Zane Muhl

The return form should be received by our office before the
deadline of November 20, 2000. If you have at least 12 cor-
rect answer s, verification of 3 hours credit will be sent to you.

For information,

e Cal: Joyce Burger (312) 996-2604

 E-mail: joyceb@uic.edu or zfmuhl@uic.edu

The UIC College of Dentistry is a Recognized Provider,
ADA-CERP #01294033.

L earning Objectives

After completing this course, the participant will be able to:

1. Describe the effects of placing a fixed lingual arch in the
transitional dentition.

2. Compare the stability of 2 methods of fixation after jaw
surgery.

3. Describe the standards for performing a space assessment.

4. Discuss aspace analysis not linked to a specific appliance
or treatment philosophy.

Article 1. Longitudinal assessment of vertical and sagittal
control in the mandibular arch by the mandibular fixed
lingual arch. by Francisco J. Villalobos, Pramod K. Sinha,
and Ram S. Nanda

1. How did change in mandibular molar position in the fixed

lingual arch group compare with that of the control group?

a. The molar tipped mesialy in the lingual arch group
but not in the control group.

b. Therewasno difference in molar position between the
lingual arch and the control group.

c. Vertical and sagittal change of the molar was larger in
the lingual arch group.

d. Vertical and sagittal change of the molar was smaller
in the lingual arch group.

2. Which measurement of mandibular incisor position was
NOT different between the fixed lingual arch group and
the control group?

a. Angular change
b. Axial change

c. Horizontal change
d. Vertical change

3. What was the difference between movement of the molars
and incisors in the group with the fixed lingual arch?
a. The incisors extruded 4 times the amount of the
molars.
b. The molars intruded twice as much as the incisors.
c. Themolarsand theincisorsintruded a similar amount.
d. Theincisors extruded less than the molars.

4. What isapossible disadvantage of using the fixed lingual
arch in the transitional dentition?
a. A cusp-to-cusp molar relation may not self-correct.
b. A molar crosshite will develop.
c. An opening rotation of the mandible may be enhanced.
d. Distal tipping of the incisors increases overbite.

Article 2. Stability of bilateral sagittal split ramus osteoto-
my: Rigid fixation versus transosseous wiring. by Jeffrey
L. Berger, Valmy Pangrazio-Kulbersh, Sven N. Bacchus, and
Richard Kaczynski

5. How did the authors describe their findings?

a. For the majority of values, skeletal relapse was an
infrequent sequela of surgical correction.

b. None of the changes were statistically significant.

c. The extent and direction of skeletal change was not
predictable for most of the variables.

d. Therewere mgjor differencesin the amount of relapse
between the 2 types of fixation.

6. How much did the overjet relapse in this group of
mandibular advancement patients?
a. Theoverjet relapsed 5% from the pretreatment value.
b. Theoverjet relapsed 17% from the pretreatment value.
c. The relapse was statistically insignificant but clini-
cally important.
d. There was no relapse in overjet.

7. Why did the authors suggest that relapsein vertical height of
theramus may have been dueto changes at thegonia angle?
a. Anterior facia height did not change.
b. Remodeling changes were seen in the condylar head.
c. Therelapse only occurred in the transosseous wiring
group.
d. Therewasno horizontal lossin mandibular dimension.
8. The only practical method currently available for assur-
ing maximum stability requires (1) prolonged skeletal
stabilization and (2) control of the proximal segment.
a. Thefirst statement is true; the second is false.
b. Thefirst statement is false; the second is true.
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c. Both statements are true.
d. Both statements are false.

Articles3 and 4. The Royal L ondon Space Planning: An inte-
gration of space analysis and treatment planning. Part I:
Assessing the space required to meet treatment objectives.
Part 11: Theeffect of other treatment procedureson space. by
Robert H. Kirschen, Elizabeth A. O'Higgins, and Robert T. Lee

9. What is the first stage in the process of space planning?
a. An assessment of future growth
b. An assessment of the space requirement
c. The determination of molar movements required for
occlusal correction
d. The determination of space to be used during treatment

10. How is the archform dealt with in the assessment of crowd-
ing and spacing?
a. The archform need not reflect the majority of teeth.
b. The chosen archform becomes a treatment objective.
¢. Thelineof thearch must include the most prominent incisor.
d. Thepointsof reference must remain consistent for each case.

11. Which is correct with regard to the occlusal curve?
a. For adepth of 4 mm, 1.5 mm should be allowed.
b. One millimeter of space should be allowed for every
millimeter of depth of curve.
c. Pardlel-sided teeth require more space.
d. Second molars are used to assess the depth of the curve.

12. For the purpose of space planning, each millimeter of incisor
retraction will consume 2 mm of space within the dental arch.
The upper incisors are corrected in the analysisto an overjet of
2to 3 mmiin relation to the lower incisors.

a. Thefirst statement is true; the second is false.
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b. Thefirst statement is false; the second is true.
c. Both statements are true.
d. Both statements are false.

13. How does molar expansion affect space?
a. Approximately 0.5 mm is created by each millimeter
of expansion.
b. Bucca movement of asingletooth increasesarch width.
c. Expansion increases arch depth.
d. Splitting the palatal suture creates less space than
other methods of expansion.

14. Which factor in space analysis does NOT incorporate
clinical treatment objectives?
a. Archwidth
b. Correction of incisor angulation and inclination
¢. Crowding or spacing in the original malocclusion
d. Incisor advancement or retraction

15. What determines the amount of space available from pre-
molar extractions?
a Anchorage demands
b. Location of the crowding in the arch
c. Location of the teeth extracted
d. Size of the teeth extracted

16. What was the value of Royal London Space Planning in

the treatment planning of case 1?

a To determine that Class |1 elastics should be used to
reduce the Class I molar relation

b. To establish that headgear must be used to meet the
anchorage demands

¢. To select which premolars must be extracted

d. To establish that afunctional appliance was indicated



